2) Prove that the quadrilateral with the coordinates P{1,1), Q(2, 4), R(5,6), and 5(4, 3) is a parallelogram.

PROVE IT IS A PARALLELOGRAM BY DIAGONALS BIS! EACH OTHER
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3} The vertices of quadrilateral JOHN are §{-3, 1), O(3, 3), H(5, 7), and N{-1, 5).

Prove JOHN is a parallelogram by opposite sides are congruent
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4) Prove that quadrilateral LEAP with vertices L(-3, 1), E{2, 6), A(9, 5), and P(4, 0) Is a parallelogram.

Prove it is parallelogram by opposite sides are parallel
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5) Prove that quadrilateral with vertices A(-2, 3}, B(2, 6}, C({7, 6), and D(3,3) is a rhombus.

Prove it is a rhombus by ides congruent
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6) Prove the quadrilateral with vertices A(-1, 4), B(2, 6), C(5, 4}, and D{2, 2) is a rhombus.

diafonals biseyt each other and a erpendichiqr

Prove it is a rhombus by
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